

KED & Co.

08/04/2023 10:00 AM | Travel & Install 08/05/2023 09:00 AM | Install 08/05/2023 04:00 PM | Event 08/05/2023 08:30 PM | Strike Ceremony + Cocktails 08/06/2023 07:30 AM | Strike Ballroom +

Drive to LA

PO: Shipping Address: Rosewood Miramar Invoice Date:
Due Date: Upon Receipt

Salesperson: Angela Murelli

Description		Qtty	Price		Total
Ceremony	Panels - Hedge Panel 5'x10'	10	\$185.00	T	\$1,850.00
	to block the bocce ball court area **L-brackets and fabric for backside LOTS of Sandbags	10	\$183.00	'	\$1,630.00
	Palm Springs Accent Table - White Wire w. White Glass Top	1	\$125.00	Т	\$125.00
			Total Ceremony		\$1,975.00
Cocktails					
	Beverly Hills Accent Chair - Off White w. Silver Legs	4	\$200.00	Т	\$800.00
	Accent Table - Las Vegas Round Mirrored	2	\$85.00	Т	\$170.00
	Accent Table - Round w. Chrome Stand	2	\$85.00	Т	\$170.00
	Boston Full Oval Bar 16'D - All White	1	\$4,500.00	Т	\$4,500.00
	Boston Round Barback - Plexiglass Tier Shelves	1	\$325.00	Т	\$325.00
	Sofas - Madrid - Round - Off White Velvet	2	\$400.00	Т	\$800.00
	Coffee Tables - Tokyo - Chrome A Frame 6'	2	\$250.00	Т	\$500.00

Description		Qtty	Price		Total
	Madrid Club Chair - Channeled Off White Boucle W/ Wood Trim	4	\$200.00	Т	\$800.00
	Bucharest Stand Up Tables - Painted Silver	4	\$175.00	T	\$700.00
			Total Cocktails		\$8,765.00
Ballroom					
	Perimeter Ballroom Drape - Gauze Marble	1	\$13,800.00	Т	\$13,800.00
	Perimeter Valance - Marble Dupioni	1	\$2,000.00	Т	\$2,000.00
	Stage Backdrop - Swag Drape layered tones of ivory and dusty rose	1	\$3,500.00	Т	\$3,500.00
	Alcove Drape (Cake) - Swag Drape	1	\$2,500.00	T	\$2,500.00
	Palm Springs - White Wire W/ White Glass Top cake table	1	\$150.00	Т	\$150.00
	Tech Drape 5'H Gauze Marble	1	\$550.00	Т	\$550.00
	Dj Fronts - Beverly Hills - Pink Channeled Velvet	1	\$450.00	Т	\$450.00
	Monaco Bar - Straight Beveled Edges 8' painted off white, light taupe, dark taupe	3	\$950.00	Т	\$2,850.00
	Barback - Curved Alcove w. Shelves 22'W Frame painted TBD Interior Alcove (back wall) painted Silver Added LED light in Warm white to the perimeter and under each shelving	1	\$7,500.00	Т	\$7,500.00
	Aspen Dining Chair - White Wood w. White Linen	80	\$25.00	Т	\$2,000.00
	Frankfurt Dining Chair - Channeled Boucle Off White	140	\$25.00	Т	\$3,500.00
	Beverly Hills Sofa - Off White w. Silver Legs	1	\$400.00	T	\$400.00
	New York Coffee Table - Diamond Chrome	2	\$250.00	T	\$500.00

Description		Qtty	Price		Total
	Beverly Hills Side Chair - Blush w. Silver Legs	2	\$225.00	Т	\$450.00
	New York Accent Table - Diamond Chrome	1	\$100.00	Т	\$100.00
	Las Vegas Accent Table - Round Mirrored	1	\$100.00	Т	\$100.00
P	Beirut Sofa - Curvy Ivory Velvet	1	\$500.00	Т	\$500.00
6	Beirut Club Chair - Ivory Velvet	2	\$250.00	Т	\$500.00
	Accent Pillows	16	\$30.00	Т	\$480.00
			Total Ballroo	m	\$41,830.00
Services					
	Installers: Install Friday	8	\$500.00		\$4,000.00
	Installers: Install Saturday	8	\$500.00		\$4,000.00
	Installers: Strike Overnight	8	\$500.00		\$4,000.00
	Accommodations: Perdiem for (3) Days	8	\$222.00		\$1,776.00
	Accommodations: Hotel Rooms for (2) Nights	4	\$600.00		\$2,400.00
	Manager: Onsite	1	\$950.00		\$950.00
	Trucking: 24'	4	\$600.00	Т	\$2,400.00
	Trucking: Gas Surcharge	4	\$65.00	Т	\$260.00
	Presentation: MG Set Up	1	\$350.00		\$350.00
	Misc: Supplies	1	\$650.00		\$650.00
Please make checks payable to Revelry, Inc.		Tabellet	Total Produc		\$52,570.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		iotal Lab	or/Services/Mis Taxe		\$20,786.00 \$5,246.85
•			Discoun	ts:	(\$0.00)
Notes			Tot		\$78,602.85 (\$0.00)
			Paymen	ເວ.	(\$0.00)

Balance: \$78,602.85